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1. Define and illustrate any three of the following metres : [3x3=9]

3.

fferie @ @ fonfb =ewa emrepiR Snigeel 1S ¢
(a) STE=ifdereRy_ (b) HTferT (c) A=At (d) YSTEYAH (e) &=
Scan the metres in any three of the following : [2x3 = 6]
frsferie @ cwim feaia sidfeis = ¢
a) SEHAIRFTHT |
b) HSTelih G&H SSifd HEEl qigqer |
¢) Ted =R = goivd == |
d) #faafa fedmicisn aedf o
) TSI YN0 AT |
a) Decline any five of the following : [1x5 = 5]
e @ @R Mvioa =mmel e 72 ¢
i) O in gt e
ii) @ in germn fga=m
iii) Y in TS Sge=
iv) 3TE in Y=HT Tehel=
v) ad (&) in Il e
vi) H1q in G=H Teha=H
vii) e (Fdl.) in g sige=m
b) Conjugate any five of the following : [1x5 = 5]
Rt @ @ Aniva argwel Wersie 7 ¢
i) 93 in @€ 3rd person plural
i) 9< in < 1st person singular

iii) <1 in Tg 3rd person plural

Iv) 3T in &€ 3rd person plural
v) B in < 2nd person singular
vi) T + << 3rd person plural

vii) 1 + < 2nd person singular




a) Answer any one of the following questions : [10]
fFferide exalr @ (@N 9307 Tex e ¢

i) Who is I ? Write in your own words the advice delivered by him.
S (F 2 S SH! (IR e S (@7 |
i) Write a note on 997 ’s style of composition.
I aq oIS ol @6 Biwl (@12l
OR,
b) Translate any two of the following passages into English or Bengali : [5%2 = 10]
e srrrraler @ (&9 7iva 2er S12-1 A Sg1qm I 2
i) frezmRT T 7 oM< dad 4, 1 qsEt fgsd, 1 Amata /e, e,
TfHaTeF=afaTeR, T Jiasi< T
ii) 7= 9=e yuat, 9 auf<, § 9g A, TAEIEdt, AsgiHerHTeRa R e e e aatae
farTarareRTiea: wifd, A1 a1 "eTc FgIEand |
iii) TR g Tnedfreaea: e SRReAfeash: T fog gfd, werfrm Serafufy, L

Translate into Sanskrit any one of the following passages : [10]

[Frferie Sermreler @ (@9 GBbe FFO SWE@m T ¢

a) H*[vm AR (Idis@ (SeT TRPRE A @F wiHg drnel AR oreRe FE | e e
(Ae fof foram (41 @ F82ge | 71 el #rpmiceR & $IE Ferort Fea SIieH | 551 TIER
T ol AIwCeT A0er [l STae 0w | S I et AP AFIE (A TG |

b) wifsFICes NEIERIeN AT @ F99 281 | (7 TR SHionea feel waRie ANRIWEE «F [EiG 5= |
TG AP F9 OIFEA Wt @3 #AREIS | T [ T@ o7 Sifie i 799 | fomisigl e
IR @A HIE AGCe G I | FPEEETR (TN (A(F [ AR PICed @I M (RISE
G crea, A ColTRICT] 2hgfo o |

Read any one of the following passages and answer the questions given below :

Rlie SrmRreler @ @@ 90 7T g4re e sl FHo Ted 16 ¢

a) M IR FYfaal W T dHIAR @ e ot @, gmd hAreuRe Ed
TERTRAdEEeT HEaqe s Wogdl dieH afasafd | aie ggmed dfaad - 1 gfgudaes
U WA | SR 9 Fodeh: ShUdast FHY @l ergu 9ol AerE- dal iy s $e |
T - HEAY ? Fd: THT: ? [2x5 = 10]
i) T A, T = AW fory ?

i) o fociem gmet: o faf<aag 2

iii) aa: 3 T Wi ?

iv) “STodeh:’ 3id 9 % A ? | FANeSd 2
v) i fo fermfaay ?

b) TS AR T F GASHITHS TR FISTEd - 9% Td: Hald = YAsiiard | 3Tar g 3 IRk
JHRHI 9 | FST J T 7 Tl 71 | Jaaed o Fehial JAd: YosiaTaieead! | STemat &o
fafar ameRq- 9! o aREX | T O St afasd | T I Farfy Sisfy 9 ga:, qageg. T’
AARIRHATI FUIHM | TR foerio] afe I ST GASTiasfd | Sl IS8T T[R1g i< Ty
G & | Ul I el hisfi 7 g4, Al 9 SIHIHR I HeHh YA | [2¥5x4 = 10]




10.

11.

12.

i) I5: framRvd formmg 2

i) I5& g9 Al JSMA: 1 qldfshan ?
iii) g5 fafa<a 95i i s ?

iv) IS STURIAT <1 ?

Join the Sandhi in any three of the following :

frsferie @ @ foafte s w2 ¢

a) AcEt + 39 b) T + TS
c) @ +3M= d) 3+ Ararm
e) AT + Y

Disjoin the words in any three of the following :
@ (i fonfba Afehi<mn < ¢

a) 9w: b)
e) fudra

Account for the case-ending in any two of the underlined words :

@ @ @9 g6 sior e [efe s o s
a)  og foram Wit |

b) foren g =: TgEafdl

C) leteh: 43E T=afd |

Illustrate the use of any two of the following :
& I YI5F A AT (74ie 2

a) STl gt

b) drced =geff|

C) WId HwHl |

Correct any three of the following sentences :
frsferiere amefem @ (i fomiba sreie FKesiam = ¢
a) o gt wafa fuf=sa: |

b) STUR: YA HigH |

C) USI: Yl USTH: |

d) THT J&ih: USRI |

e) Taemi foh Uy var ?

Substitute in single word for any three :
frsferie @ (i foaibes it =icw 2w < ¢
a) 9o 39 SR(d |

b) s UM

¢) Y IH: JoAfd |

d) TsgaI g Al

e) g el |

[1x3 = 3]

[1x3 = 3]

[2x2 = 4]

[2x2 = 4]

[1x3 =3]

[1x3 = 3]



